
Subject

Date:
قفاوملا

Taylor Senies

سردلا عوضوم

خيراتلا

Theoren (Tay lor's Theren)

Suppose that a frction f 
is

onalytic throughat ar open disk

12-21< Ru. Then, at each point

2 in that disk, fiz) has the

Senies representatian

fcz) = an (2-Z)"
pln

Where Cn= +(2.) that
nt お

the powen series [an(2-20)
Converyes te Fesa thectisk12-2



سردلا عوضوم
قفاوملا/ خيراتلا

Subject

Date: //

Remenk:

12-21<RR

Z
an =

D(n
F(20)

: A ccarding to Tayton's

Theorem, the Taylor Series of

faction f abant Zo conneges

to frz) within the Circte

abant Z whose ratins is

The tistonee from to to the

nearest paut 7,whee f

fails to be malytic.
رتعت نلا الإ ةقثلا هحنمو لاؤسلا

ةروكلذل ةيليلخلا ةلادلا اهيف نوتر
ساطرف

12-2/6 يساسالاوةيجولاة



6Subject

Date:
/ قفاوملا

Exemple Show that the

سردلا عوضوم
/ خيراتلا

Macleunian

Series exponsion of f12)=e²

is 2=2"
n=0

Seli Zzo ,e² is the entirege

fuctien Ro = 00

لوا دنع فقيام ىرغصلا نم دبع صرقلا
ةيكيل ريثك ةلادلا اهيف نوكت ةصقن

to write

(n

(0)
n1

Zn

we went

fz)=
n=o

تالا اهملاباسح ةولعلا

ofny نامرف a



Subject

Date:
/ قفاوملا

f(2) = ezご
00

ةباقنم نوكت ةلسلسملا هذه ل

سردلا عوضوم

/ خيراتلا

A121>00 or 76

Exuple! Find The Tayler seres

of f(z) = CosZ abent Z=

Sot! fiz) = CoSZ , Z=
تا

2

fiz) is ontire

CoSZ =

(nj

までく。
in

n



Subject

Date:
قفاوملا

f12) = ces z fol=t

8(2)=-Sin2 flo =0

f"(2) =-cos2 = f(0)=
!"

f"(-2)= Sin 2 $() = 0

(2m+1)

سودلا عوضوم

خيراتلا

f (o) = 0, when n =2m+Iodo

(2m) m

m=0,2,

f (o) =(-1), when n=2m
m =0,l192,---

(2mT1J
2mT1

CosZ= Co)
2

0 m-o (2m+1)!

+

(2m)
Cor

m(2 m)!
CoaZ= (2m)!
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